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#tinclude <conio.h>

#include <iostream.h>

void main()

{

int i,is,z,dcost[9],hcost[9],scost[9],51[9],52[9],t k.d;

double he,sc,dc;

for(t=1;t<=9;t++)

{

cout<<"enter Less the amount of goods must exist in the store s=";

cin>>s1[t];

b

for(t=1;t<=9;t++)

{

cout<<"enter The largest amount of goods should their presence in the store S=";
cin>>s2[t];

}

i=2;

is=60;

k=20;
for(t=0;t<=3;t++)
{

if(is>s1[1])

{
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z=0;
dcost[t]=k+i*z;
cout<<"enter demand d=";
cin>>d;
is=is-d;

if(is>0)
hcost[t]=is;
else
hcost[t]=0;
if((-1*is)>0)
scost[t]=is;
else
scost[t]=0;

}

else {
z=s2[1]-is;
dcost[t]=k+i*z;
is=is+z;
cout<<"enter demand d=";
cin>>d;

is=is-d;

if(is>0)
hcost[t]=is;
else
hcost[t]=0;
if((-1*is)>0)

scost[t]=-1 * is*5;
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else
scost[t]=0;
1

1

for(t=0;t<=3;t++)

{

hc=he+hcost[t];

cout<<scost[t]<<endl;

sc=sc+scost[t];

dc=dc+dcost|[t];

}

de=dc/4;

sc=sc/4;

he=hc/4;

cout<<"the avrg order dcost="<<dc<<end|;
cout<<"the avrg holding cost hcost="<<hc<<endl;
cout<<"the avrg shortage cost scost="<<sc<<endl;

cout<<"the sum all cost ="<<(hc+dc+sc);

getch();
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